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[6-3 B.5 -B6.2 0.6 8.83];
[2.1 -2.7 8.8 1.5 -2.1];

[yk(2); yk(3); yk(4); yk(5)];
[-yk(1), vi(2), vi(1);
-yk(2), vl(3), vi(2);
-yk(3), vl(4), uvl(3);
-yk(4), vl(5), vi(4)];
theta_hat = (X' * X) \ (X' % Y):
disp(theta_hat);
459 a1 =-1.4862, by = 0.3456, b; = 0.4569
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1. £/ step REFFAEIZRAGHNEKRMEY, HFAEWENNHZTMARNEFZNSHARE.
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G R 625 0 1D

i 0:0.1:60;

[y, t] = step(G, t);

y_noisel = y + sqrt(0.001) * randn(size(y));
y_noise2 = y + sqrt(8.802) * randn(size(y));
y_noise3d = y + sqrt(0.005) * randn(size(y));
figure;

subplot(1, 3, 1)

plot(t, y_noisel)

legend("HZE pe1")

subplot(1, 3, 2)

plot(t, y_noise2)

legend ("

subplot(1, 3, 3)

plot(t, noise3)

legend("/5Z==0.005")
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2. F = KB R N B EAUEPHR B EE S R P S
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tF(1, [6 12 3 1]);
0:6.1:60;
step(6, t)°';

result
t = evalin(
y = evalin(

result = trapz(t, ( ) .x (-t) .~ (i - 1) / factorial(i - 1));

Al M(1);

A2 M(2) + A1 = M(1);

A3 = M(3) + A1l * M(2) + A2 % M(1);
fprintf('Al = %.2f\nA2 = %.2f\nA3 = %.
bl = 1; al = A3; a2 = A2; a3 = Al; a4
62 = tf(bl, [al a2 a3 a4]);

y2 = step(62, t);
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BRERMERL HA %, HITXEER AT,
ZER: A1=3.00, A2=1210, A3 =297
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